2.KERROS o o

PARVEKE
12,0 m2
[
L]
\\H:H:1
\
= — o | SOPPI
L H e : ‘ %Hol 2 v S
9,0 m2 ,Um D 25,0 m?
PARVEKE H @ ?.
- »
12,0m gl 2 : S 1 :
] E%h+k+s2 5] 2h+k+s
82,0m ﬂ '  eon 60,0 m?
WC
sl KPH -
MH 2 i
10,5 m? 0 - -
@ ET ? JKIPK ;—P —@— %'7
. L Il E
CJ
O — 7 F‘LE
L H OH 2k
PARVEKE 22,0 m? 5,0 mi_|
12,6 m? H 3
T 2h+k+s
ET
O — 53,5 m? i
jt+spk
= KPH
MH 1 @
12,0 m2 o
HISS| ‘
Il
O
I:,ZAIgVEZKE H 2h+k+s K +OH go
0m 295 m? o
H 70,0 m? a |
. ‘
O - 1=
- o . PARVEKE
| | | | 12,0 m?
O Od

2019092 As. Oy Virranhohde
19.8.2020 JN
1:100



	L2 Pohja 2.krs

